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	Home Learning Plan

	Week beginning: Monday 18th January 2021
	Class: 6

	Literacy

	Reading
	Start your day by reading on your own for 30 minutes. 

	












	Handwriting –
Children, you need to practice your handwriting daily, for around 15 to 20 minutes. You can rewrite a section of your literacy work or copy a passage from your reading book or combine your handwriting and spelling work for that day.
Your letters must be joined, formed correctly and neatly and written on lined paper. 

	Spelling
	
	

	
	M
	Today’s focus is simple plurals
Write and practice these words using LOOK – SAY – COVER – WRITE – CHECK:
stars, plates, horses, clouds, dishes, torches, buses, foxes, babies, cherries, boys, keys
*Check the meaning of any words you are not sure of, and write each one in a separate sentence.

	
	Tu
	Today’s focus is tricky plurals
Write and practice these words using LOOK – SAY – COVER – WRITE – CHECK:
wolves, scarves, loaves, calves, knives, cliffs, chiefs, volcanoes, potatoes, tomatoes, hippos, cellos, cuckoos
*Check the meaning of any words you are not sure of, and write each one in a separate sentence.

	
	W
	Today’s focus is using prefixes
Write and practice these words using LOOK – SAY – COVER – WRITE – CHECK:
disappointed, dissatisfied, dissimilar, unsure, unnecessary, unnatural,
overseas, overrule, overreact, impatient, immobile, immovable
*Check the meaning of any words you are not sure of, and write each one in a separate sentence.

	
	Th
	Today’s focus is using suffixes 1
Write and practice these words using LOOK – SAY – COVER – WRITE – CHECK:
judge, judging, judgement, care, caring, careless, cultivate, cultivating, cultivation, alone, lonely, tune, tuning
*Check the meaning of any words you are not sure of, and write each one in a separate sentence.

	
	F
	Today’s focus is using suffixes 2
Write and practice these words using LOOK – SAY – COVER – WRITE – CHECK:
marry, married, marriage, funny, funnily, funnier, geology, geological, melody, melodious, bounty, bountiful, skill, skilful
*Check the meaning of any words you are not sure of, and write each one in a separate sentence.

	Literacy task

	
	This week we are using a clip from The Literacy Shed, called Zahra.

	
	M
	Comprehension
[bookmark: _Hlk61683011]Zahra – from The Literacy Shed 
Questions about the film clip.
You are going to watch a video clip, watch carefully and think about these questions.
1- Where do you think the story is set? Explain how you know this.
2- What do you think the girl is doing in the story, and why is she doing it? Give some reasons to support this.
3- How do her feelings and emotions change during the video? Try to be really clear with your use of language, please don’t just say “She was happy then she was sad”.
YOU WILL NEED TO RECORD YOUR ANSWERS ON PAPER READY TO USE IN THIS WEEK’S LIVE SESSION.
Now watch the clip, you may need to watch it several times, here is the link again. 
The Other Cultures Shed - THE LITERACY SHED
Now answer these questions. Write them down. YOU WILL NEED TO REFER BACK TO YOUR ANSWERS TO HELP YOU WITH YOUR WRITING THIS WEEK.
1- Why is Zahra trying to water the tree?
2- “Zahra is being lazy when she lies down by the tree”. Do you agree or disagree with this statement? Give three reasons why you agree or disagree with this, using evidence from the clip to support your answers.
3- At the beginning of the story, the tree is weakening. Find three more powerful synonyms to describe the tree. (A synonym is a word which means the same or similar to another word)
4- An antonym is a word which has the opposite meaning, e.g. thin and thick. At the end of the story, the tree isn’t weakening. Give three more powerful words to describe the tree at the end of the clip.
5- Mrs D thinks that Zahra has a positive growth mind set. Mr Miles disagrees. Why do you think each teacher thinks this and which do you agree with? 

	
	Tu
	Grammar
Today you are going to be learning about subordinate and embedded clauses, one example of which is a relative clause. 
We will start with some PowerPoint teaching slides.


Next, we will have a go at a couple of activities using relative and subordinate clauses.
https://central.espresso.co.uk/espresso/primary_uk/subject/module/video/item361706/grade2/module305322/collection361826/section361765/index.html 

  



	
	W
	Planning and writing 
Today you are going to plan and write the first part of the story of Zahra, the where the story takes place. You will use your subordinate and embedded clauses from yesterday’s grammar.


Make sure you check your punctuation and your spelling please.
Refer to your Alan Peat sentences, scroll down on our This Week’s Learning page for the link. Use your orange grammar book for adding more special features.

	
	Th
	Planning and writing 
Today, you are going to plan and write the middle part of the story of Zahra, the who of the story. Reread your writing from yesterday before you start.


Make sure you check your punctuation and your spelling please.
Refer to your Alan Peat sentences, scroll down on our This Week’s Learning page for the link. Use your orange grammar book for adding more special features.

	
	F
	Planning and writing 
Today, you are going to write the last part of the story, the what went wrong in the story. Reread your writing from the previous two days before you start.


Make sure you check your punctuation and your spelling please.
Refer to your Alan Peat sentences, scroll down on our This Week’s Learning page for the link. Use your orange grammar book for adding more special features.



	
Maths

	Muscle Maths
	Do your next Muscle Maths card task please.

	Tables
	Choose from one of these options to practice your tables each day:
· https://www.topmarks.co.uk/maths-games/daily10
· https://urbrainy.com/mtc
· https://www.timestables.co.uk/multiplication-tables-check/

	
	
	Maths lesson
	

	
	M
	I can multiply by 10 100 1000


	

	
	Tu
	I can divide by 10 100 1000


	

	
	W
	I can multiply decimals by integers


	

	
	Th
	I can divide decimals by integers


	

	
	F
	 I can complete my practice SAT paper (reasoning)




[bookmark: _GoBack]




image1.png
Kea Community
Primary School M
m— . .“ L a A GREAT PLACE TO LEARN AND MAKE FRIENDS &. , .. ‘




image2.emf
Main and  Subordinate clauses Tuesday 19th January.ppt


Main and Subordinate clauses Tuesday 19th January.ppt
 







 



A clause is a group of words that 

includes a subject and a verb.



There are two types of clauses,

main clauses and subordinate clauses.

What is a clause?

The main clause makes sense on its own because it is a complete thought.







 For example:

I went to town.

It was red.

A subordinate clause supports the main clause. The opening words of subordinate clauses show that they are dependent of the main clause.



For example:

after the storm cleared

because he didn’t like chocolate





 



The Subordinate Clause

A subordinate clause can come at various points in a sentence.



You might use one at the front of a sentence. 

For example, a fronted adverbial can be a type of subordinate clause:



Like a bullet speeding through the air, he ran through the door. 



You might want to use one at the end of the sentence:



She went straight home after school because she needed an early tea.



Sometimes they even come in the middle of sentences:



My brother Richard, who lives in Australia, 

is coming home for Christmas.



















 



When to Use a Comma

Sometimes you will need to use a comma to mark where your subordinate clause is. Here are some general rules to help you know when to use commas.



If the subordinate clause starts the sentence, use a comma after it. 

If it ends the sentence do not use a comma.



Before we go swimming, we have to go to school.

We have to go to school before we go swimming.



If the subordinate clause is adding additional information in the middle of your sentence, put commas before and after it. If you could put parentheses ( ) around your clause, it needs commas.



Tomorrow morning, when the clock strikes nine, school will begin.













 



Conjunctions

Conjunctions are used to start subordinate clauses. 

Here is a collection of conjunctions. 



Can you use the conjunctions to make subordinate clauses 

for this sentence?



She walked for an hour.

For example: After she had eaten lunch, she walked for an hour.

which

while

when

until

after

before

so that

just as
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Identifying Relative Clauses

Tick one box to show which part of the sentence is a relative clause.
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Tick one box in each row to show whether the underlined clause is the main clause or the subordinate clause.

Identifying Main Clauses and Subordinate Clauses

Sentence

Main
Clause

Subordinate
Clause

Sentence

Main
Clause

Subordinate
Clause

The shop, which was
apparently open, had no lights

on.

After completing her

homework, Alice went out to

play in the garden.

The sun, sparkling like a
diamond, was overhead.

Before starting work, Leila
went for a run.

Getting up from his seat, the

teacher shouted at the children.

Andrew cooked a Sunday roast
which was delicious.

The toolkit, which was

strapped to his waist, was
heavy.

She paid the bill after eating

her meal.

Mrs Smith, who is our Maths
teacher, always plans great
lessons.

Once his bed was made, Jake

was able to play on his game.

Manchester, where I live, is a
brilliant city.

Real Madrid, my favourite

team, are the best club.

Although it was raining, the
old man decided to clean his
car.

The tennis player, dressed in
white, won the match by one
point.

Harry walked to the park that
was full of children.

T hate the stripy scarf that my

mum knitted for me.
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Tick one box in each row to show whether the underlined clause is the main clause or the subordinate clause.

Identifying Main Clauses and Subordinate Clauses

Sentence

Main
Clause

Subordinate
Clause

Sentence

Main
Clause

Subordinate
Clause

The house, dilapidated and
lonely, stood at the edge of the

haunted forest.

While robins are fighting in the
garden, other birds eat the bird
food.

As the sun went down, I read
my book on the balcony.

He was late for the film
because he missed the train.

Because the road was icy, the
cyclist fell off his bike.

The birthday present, wrapped
in pink shiny paper, sat on the
table next to the cake.

Unless you finish your pasta,
you cannot have any ice cream.

As Kate walked out of the
room, she tripped over the rug.

After the lights went out, the
cat left the house for the night.

Before opening the door, T took
a deep breath.

The bus, full of noisy children,
weaved down the winding

roads.

Amy, the best basketball player
in school, has been picked to

play for her county.

Even though it was snowing,
she enjoyed her bowl of ice

cream.

While Mum was at the shop,
Ben and his dad cleaned the

house.

As the clouds cleared, Amir left

for work.

The bus, rusty and spluttering,
pulled into the garage.
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I can write a description of a where in a story Wednesday 20th January 2021.docx
Wednesday 20th January 2021Remember! 

A relative clause is a subordinate clause too. It is a little easier to use so choose which one will challenge you the most. 



I can write a description of a ‘where’ in a story

TASK: To write the ‘where’ in the story using descriptive language and subordinate clauses 



[image: ][image: ][image: ]Power Words List

clustered/ close

scorching

blistering 

blazing 

 parched 

unrelenting 

barren

[bookmark: _GoBack]desolate

Technical Key Words List

traditional

round/ cone-shaped/ cylindrical

peaked thatched roof/ straw

woven

clay/mud 

architecture 

constructed



 











Now write at least 2 paragraphs describing the ‘where’. 

You should include description about the huts, the landscape and the climate. 

Try to use the technical words related to the African round huts and also include some of the power words. 

However, I am sure that you can think of even better words. 

I look forward to reading them! 
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I can write a description of a character Thursday 21st January 2021.docx
Thursday 21st January 2021Remember!

Use a thesaurus to help you find the most powerful and interesting words. 



I can write a description of a character

Task: Write a character description using high-quality language and subordinate clauses. 



[image: ]To help you before you write your 2 paragraphs of high-quality writing, choose words and phrases to go into the appearance and personality boxes. Personality

great perseverance 

hard-working 



Appearance

adorned

brightly-coloured clothes 

Remember! 

Use a thesaurus to help you use the most powerful adjectives and adverbs































[bookmark: _GoBack]Now write 2 paragraphs introducing Zahra to the story. Remember to use some of the descriptive, powerful words you have planned above and also include 2-3 subordinate clauses which we looked at during Tuesday’s grammar lesson. 
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I can write the 'what goes wrong' in the story Friday 22nd January 2021.docx
Friday 22nd January 2021

I can use emotive language and subordinate clauses. 

TASK: To write ‘the what goes wrong’ in the story.



[bookmark: _GoBack]Think about the point in the story in which things start to go wrong for Zahra. What actually goes wrong? Does more than one thing go wrong? How does the video show this? How can you demonstrate (show rather than tell) how she feels about these things going wrong? Look at the stills below and recount what goes wrong using up to 2 sentences. Then take what you have written and try to add detail and emotions to make the reader understand what Zahra is going through. Use some of the emotive language you discussed during your live session. 

[image: ][image: ][image: ]

[image: ][image: ][image: ]







  e.g  The last drop of water falls into the jug

    Exhausted, Zahra watched miserably as the 

last of the precious liquid fell slowly into the jug.  
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1) 









2)







3)





32  10 



32  100 



32  1,000 











 



		?																		

		97		97		97		97		97		97		97		97		97		97



 	    100		











1) 









2)







3)





32  10 



32  100 



32  1,000 











 	    100		

 



																				

		97		97		97		97		97		97		97		97		97		97



320

3,200

32,000

121



100

12,100

?

970













		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09







Which counter has the highest value?

How many times greater is the red counter compared to the blue counter?





		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09





0.3  10  3









Have a think





		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09











0.5  10  10  50

0.5  100  50





		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09





0.6  1,000 

600



Have a think





		Th		H		T		O		tth		hth

												



















												





3.12  10 

When the number is multiplied by 10 the counters move _____ place to the _____.

3

1

2

1

left

31.2





												



		Th		H		T		O		tth		hth

												















3.12  100 

When the number is multiplied by 100 the counters move _____ places to the _____.

3

1

2

2

left

312











												



		Th		H		T		O		tth		hth

												















3.12  1,000 

When the number is multiplied by 1,000 the counters move _____ places to the _____.

3

1

2

3

left

312









Have a think



3,120

0







												



		Th		H		T		O		tth		hth

												



2.3  100  230











Have a think











2

3

0







Have a go at questions
 1 - 4 on the worksheet





Use or  to complete the sentences 

7.2  10  10

7.2  1,000

7.2  100  10 

7.2  1,000









7.2  100

7.2  1,000



Have a think





4.2  200

You could do

 4.2  100  2

I disagree, there are two hundreds so it would be 

4.2  100  100







I think it’d be

4.2  2  100

Rosie

Amir

Dora



Have a think





		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09







4.2  100  2

 840





		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09







4.2  100  2

 840

4.2  2  100

 840





		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09







4.2  100  100

 42,000

		10,000		20,000		30,000		40,000		50,000		60,000		70,000		80,000		90,000

		1,000		2,000		3,000		4,000		5,000		6,000		7,000		8,000		9,000

		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09







Have a go the rest of the questions on the worksheet
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42,000  10 



42,000  100 



42,000  1,000 
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3)





42,000  10 



42,000  100 



42,000  1,000 
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		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09
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210  10 

When the number is divided by 10 the counters move _____ place to the _____.

2

1

0

1

right

21
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210  100 

When the number is divided by 100 the counters move _____ places to the _____.

2

1

0

2

right

2.1
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210  1,000 

When the number is divided by 1,000 the counters move _____ places to the _____.

2

1

0

3

right

0.21



Have a think





Have a go at questions
 1 - 3 on the worksheet





Use or  to complete the sentences 

15.62  10  10  10

15.62  1,000

81  100 

81  100  10









15.62  1,000

81  1,000



Have a think

4.6  10 

46  100





0.46

0.46





40.8  20  2.04

We could use the inverse and do

2.04  20

That’s a great idea Rosie! We could do 2.04  2  10 







Let’s use a Gattegno chart to help us!

Rosie

Amir

Dora



Have a think







		100		200		300		400		500		600		700		800		900

		10		20		30		40		50		60		70		80		90

		1		2		3		4		5		6		7		8		9

		0.1		0.2		0.3		0.4		0.5		0.6		0.7		0.8		0.9

		0.01		0.02		0.03		0.04		0.05		0.06		0.07		0.08		0.09







2.04  2  10

 40.8

40.8  20  2.04







Have a go the rest of the questions on the worksheet





image8.png

DIVIDE Y10, [C0
AND ;000






image16.png







image9.png

42,000 +~ 10 =






image10.png

42,000 = 100 =






image11.png

42,000 -+ 1,000 =






image12.png







image13.png







image14.png

10






image17.png

10






image18.png







image180.png

X 10






image20.png

03X10=3






image19.png

=10






image21.png

3+10=0.3






image22.png

+10






image23.png

=10






image24.png

=+ 100






image25.png

80+-10+10=0.8






image26.png

80 + 100 =0.8






image27.png

210 =10 =






image28.png

210 + 100 =






image29.png

210 + 1,000 =






image15.png







image36.png







image37.png







image38.png

15.62 + 1,000






image39.png

81 =+ 1,000






image40.png

4.6 - 10






image41.png

46 -+ 100






image42.png







image33.png

Use >, < or = to complete the sentences






image31.png

15.62 =10 + 10+ 10






image32.png

15.62 + 1,000






image34.png

81 = 100






image35.png

81 +100 =+ 10






image47.png







image43.png

40.8 +20 =2.04






image44.png
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That’s a great idea Rosie! We could do
2.04 x 2 x 10
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1)







2)









3)







3 tenths  3 tenths  3 tenths 

0.3  0.3  0.3 

0.3 3 

4 tenths  4 tenths  4 tenths 

0.4  0.4  0.4 

0.4 3 

3 hundredths  3 hundredths  3 hundredths 

0.03  0.03  0.03 

0.03 3 









1)







2)









3)







3 tenths  3 tenths  3 tenths 

0.3  0.3  0.3 

0.3 3 

4 tenths  4 tenths  4 tenths 

0.4  0.4  0.4 

0.4 3 

3 hundredths  3 hundredths  3 hundredths 

0.03  0.03  0.03 

0.03 3 

9 tenths

0.9

0.9

9 hundredths

0.09

0.09

12 tenths

10 tenths  1 whole

1.2

1.2















Teddy spends £1.50 on his lunch every day during the week.



 

How much money does Teddy need each week?







Teddy spends £1.50 on his lunch every day during the week.



£1.50  5



























£0.50  5

 £2.50

(£1  5)  (£0.50  5)  

 £7.50











Alex runs 3.3 km a day.

She does this for 3 days.

How far does she run in 3 days?



Have a think





		Tens		Ones		tenths

						

						

						





Alex runs 3.3 km a day.

She does this for 3 days.

How far does she run in 3 days?































3.3  3 

9.9 km













		Tens		Ones		tenths

						

						

						

						



4.3  4 

17.2







































				4		.		3
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1

.

2





7

1



Have a think
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1

.

5

1

8

5

.

9

1

.

0
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1

.

2

2

0

2

.

1

2

.

0







Have a think





Have a go at questions
 1 - 4 on the worksheet





		2		1		.		3

								4

								





1

.

2

5

8



Have a think

				2		1		3

								4

								





1

2

5

8

What’s the same? What’s different?







Have a think

True

False

To work out 32.7  3 

I can do 327  3 and divide the answer by 10

To work out 3.27  3 

I can do 327  3 and divide the answer by 1,000

To work out 3.27  3 

I can do 327  3 and divide the answer by 10 and divide by 10 again.





Have a go at the rest of the questions on the worksheet
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Mr Rose is building some garden furniture.

His plank of wood is 3.96 m long.

He needs to cut it into 3 equal pieces.



How long is each piece? 





		Ones		tenths		hundredths

						



				1						

		3		3		.		9		6



				1		.				

		3		3		.		9		6



				1		.		3		

		3		3		.		9		6



				1		.		3		2

		3		3		.		9		6













										

		3		3		.		9		6













































Each piece of wood will be 1.32 m long.





Mr Rose has another plank of wood that

is 4.08 m long.

He needs to cut it into four equal pieces.



How long is each piece? 



Have a think





		Ones		tenths		hundredths

						













										

		4		4		.		0		8





















				1						

		4		4		.		0		8



				1		.				

		4		4		.		0		8



				1		.		0		

		4		4		.		0		8



				1		.		0		2

		4		4		.		0		8







Each piece of wood will be 1.02 m long.



1.2 m or 1.02 m?







		Ones		tenths		hundredths

						













										

		4		5		.		2		8





















				1						

		4		5		.		2		8



				1		.				

		4		5		.		2		8



				1		.		3		

		4		5		.		2		8



				1		.		3		2

		4		5		.		2		8















1

































5.2

4

1.2







5.2

5

0.2





		Ones		Tenths

				



		Ones		tenths		hundredths

						





























































2











										

		4		4		.		2		



				1						

		4		4		.		2		0



				1						

		4		4		.		2		



				1		.				

		4		4		.		2		0



				1		.		0		

		4		4		.		2		0



				1		.		0		5

		4		4		.		2		0





Have a think





Have a go at questions 
1 - 4 on the worksheet











8.4

8

0.4

÷ 4

÷ 4

2

0.1









3.09

3

0.0

0.09

÷ 3

÷ 3

÷ 3

1

0.0

0.03

8.4 ÷ 4  

2.1

3.09 ÷ 3  

1.03











19.8

18

1.8

÷ 6

÷ 6

3

0.3

19.8 ÷ 6  

3.3







19.8

19

0.8







19.8

10

9.8









19.8

10

9

0.8









19.8

6.6

6.6

6.6

÷ 6

÷ 6

÷ 6

1.1

1.1

1.1













7.82

4

3.2

0.08

÷ 4

÷ 4

÷ 4

1

0.8

0.02

7.28 ÷ 4  

1.82



Have a think





8.24  4  2.06

How can I use this to help me solve

82.4  4

8.24  4  4.12  2





Have a think

 20.6



 2



 2







Have a go at the rest of the questions on the worksheet
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( Instructions )

You must not use a calculator to answer any questions in this test.

Questions and answers

You have 40 minutes to complete this test.
Follow the instructions for each question.
Work as quickly and as carefully as you can.

If you need to do working out, you can use the space around the question.
Do not write over any barcodes.

Some questions have a method box like this:

—

Show
your
method

— ]

For these questions, you may get a mark for showing your method.

If you cannot do a question, go on to the next one.
You can come back to it later, if you have time.

If you finish before the end, go back and check your work.

Marks

The number under each line at the side of the page tells you the maximum
number of marks for each question.
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n William asks the children in Year 2 and Year 6 if they walk to school.

This graph shows the results.

B walk to school
[[] don’t walk to school

140

120

100

Number of |
children 60

Year 2 Year 6

Altogether, how many children don’t walk to school?

How many more Year 6 children than Year 2 children walk to school?

— vxswasrmser e QAR

1 mark

1 mark
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a Circle the number that is 10 times greater than

hine hundred and seven.

9,700 907 9,007 970 9,070 T mark

o Write the missing numbers to make this multiplication grid correct.

56 48

1 mark

DIDUNIIIINNN......cor sposoizs — —
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n This table shows the heights of three mountains.

Mountain Height in metres
Mount Everest 8,848
Mount Kilimanjaro 5,895
Ben Nevis 1,344

How much higher is Mount Everest than the combined height of the
other two mountains?

Show
your
method

2 marks

— exsussrmsar e AR

https://www.SATs-Papers.co.uk





e Complete this table with the missing numbers.

One row has been done for you.

Number 1,000 more
3,500 4,500
85
9,099
15,250
2 marks

DINUNIEIDINNN......oor ersias — —
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a Write these numbers in order of size, starting with the smallest.

1.9 0.96 1.253 0.328
1 mark
smallest
Write the missing numbers.
60 months = years
72 hours = days
84 days = weeks

2 marks

st e ININRERDLATAN

https://www.SATs-Papers.co.uk





n At the start of June, there were 1,793 toy cars in the shop.

During June,
e 8,728 more toy cars were delivered

® 9,473 toy cars were sold.

How many toy cars were left in the shop at the end of June?

—

Show
your
method

—

2 marks

DINUNIEIRINNN......cor esponoizs — —
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o Tick two shapes that have % shaded.

E 1 mark

— easnssansens oo DNV
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m Round 84,516

to the nearest 10

to the nearest 100

to the nearest 1,000

2 marks
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n Here is a rule for the time it takes to cook a chicken.

Cooking time = 20 minutes plus an extra
40 minutes for each kilogram

How many minutes will it take to cook a 3kg chicken?

minutes

What is the mass of a chicken that takes 100 minutes to cook?

kg

— exnoransers oo DNV

1 mark

1 mark
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a Here are diagrams of some 3-D shapes.

Tick each shape that has the same number of faces as vertices.

Cube

Square-based pyramid

Triangular prism

Triangular-based pyramid

2 marks

IWIIMIANHL ... oo ongesmoss  —
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m Ally and Jack buy some stickers.

Pack of 12 stickers 12 stickers
£10.49 99p each

Ally buys a pack of 12 stickers for £10.49

Jack buys 12 single stickers for 99p each.

How much more does Jack pay than Ally?

—

Show
your
method

| £

2 marks

— exmsassansans oo SNV
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m Amina planted some seeds.

For every 3 seeds Amina planted, only 2 seeds grew.

Altogether, 12 seeds grew.

How many seeds did Amina plant?

1 mark
m At the end of a film, the year is given in Roman numerals.
The End
MMVI
Write the year MMVI in figures.
1 mark

IDWIIMRIINL ... oo mgesose  —
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m Layla completes one-and-a-half somersaults in a dive.

start W\

How many degrees does Layla turn through in her dive?

1 mark

S——
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The vertices of a quadrilateral have these coordinates.

(1, 5) 5, 4) (1, -3) (-3, 4)

One side of the quadrilateral has been drawn on the grid.
Complete the quadrilateral.

Use a ruler.

=<V

-6 1 mark

IDEWIIMOIINL. ... oo peross  —
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m A cat sleeps for 12 hours each day.

50% of its life is spent asleep.

Write the missing percentage.

A koala sleeps for 18 hours each day.

% of its life is spent asleep.

1 mark

— eassovansens oo DNV
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Amina posts three large letters.
The postage costs the same for each letter.
She pays with a £20 note.

Her change is £14.96

What is the cost of posting one letter?

—

Show
your
method

—

2 marks

Sourced from SATS—Papers.co.“ll”
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m Adam says,

0.25 is smaller than %

Explain why he is correct.

1 mark

— eaanassers oo DNV
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a On a map, 1cm represents 20 km.

0O 20 40 60 80 100
1 1 | |

kilometres

The distance between two cities is 250 km.

On the map, what is the distance between the two cities?

—

Show
your
method

\ cm

2 marks

IDWOIMNIINL. ... oo mgemos  —
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a Here are two similar right-angled triangles.

/
b
a /
/ /
Write the ratio of side « to side b.
a.b=
1 mark

— eaanaiansers oo DNV
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a In this circle, % and % are shaded.

What fraction of the whole circle is not shaded?

—

Show
your
method

—

2 marks
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1. Introduction

The Standards and Testing Agency (STA) is responsible for the development and delivery of
statutory tests and assessments. STA is an executive agency of the Department for Education.

The 2017 test assesses the 2014 national curriculum. This test has been developed to meet
the specification set out in the test framework for mathematics at key stage 2. The test
frameworks are on the GOV.UK website at www.gov.uk/government/publications/key-stage-2-
mathematics-test-framework.

A new test and mark schemes will be produced each year.
The key stage 2 tests will be marked by external markers.

Scaled score conversion tables are not included in this document. Conversion tables will be
produced as part of the standards maintenance process. Scaled score conversion tables for
the 2017 tests will be published at www.gov.uk/guidance/scaled-scores-at-key-stage-2 in
July 2017.

The mark schemes are provided to show teachers and markers how the tests are marked. The
pupil examples are based on answers gathered from the test trialling process.

2. Structure of the key stage 2
mathematics test

The key stage 2 mathematics test materials comprise:

e Paper 1: arithmetic (40 marks)
e Paper 2: reasoning (35 marks)
e Paper 3: reasoning (35 marks).

3. Content domain coverage

The 2017 test meets the specification set out in the test framework. Table 1 sets out the areas
of the content domain that are assessed in papers 1, 2 and 3.

The references are taken from the test framework. A question assessing 4C7, for example, sets
out to ‘multiply two-digit and three-digit numbers by a one-digit number using a formal written
layout’ and is taken from the year 4 programme of study.
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Table 1: content domain coverage of the 2017 key stage 2 mathematics test

Paper 1: arithmetic Paper 2: reasoning Paper 3: reasoning

P3gardedifafn SATs-Pa pers.co.uk

Qu. Content domain Qu. Content domain Qu. Content domain

reference reference reference

1 4N2b 1a 482 1 5C6b

2 4C2 1b 452 2 3C8

3 4F4 2 5C6b 3 4C8

4 4C6b 3 4C6a 4a 6N5/6S1

5 3C1 4 4C4/4S2 4b B6N5/6S1

6 5F8 5 4N2b 5 3M9a/4F10b

7 4C2 6 5F8 6 581

8 3C7 7 4M4c 7 6P2

9 4C6a 8 5C4 8 6C5

10 4C7 9 4F2 9 581/4S2

11 4C2 10 5N4 10 4M5

12 4F4 11a 6A2 11 6G5

13 3N2b 11b 6A2 12 4C8

14 6C9 12 6G2b 13 6G2a/4G4

15 6F5a 13 5M9a 14 6R1/5M9a

16 5C6a 14 6R4 15 3G2

17 5C7b 15 5N3b 16 5C8b

18 6F9a 16 5G4b 17 6F11/6F3

19 5C6b 17 6P3 18 5C5c¢/5C5d

20 6C7b 18 6R2 19 4N6

21 4F8 19 6C8/5M9a 20 5M7b/5C7a

22 6C7a 20 6F11 21a 6F4/6A3

23 5F4 21 5M9b/6R3 21b 6F4/6A3

24 6C7a 22 6R3 22 6A1

25 5F8 23 6F4 23 6A4

26 6F4 24 6M8b/6R1

27 6F5b

28 6F5b

29 6R2

30 6F4

31 6R2

32 6F4

33 6F9b

34 6R2

35 5F5

36 6C7b
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4. Explanation of the mark schemes

The marking information for each question is set out in the form of tables (sections 7, 8 and 9).

The purpose of the mark scheme is to define the acceptable answers for each question within
the test. Answers other than those listed may be acceptable if they meet the marking criteria.

The ‘Qu.’ column on the left-hand side of each table provides a quick reference to the question
number and part.

The ‘Requirement’ column may include two types of information:

e a statement of the requirements for the award of each mark, with an indication of whether
credit can be given for an appropriate method

e examples of some different types of correct answer.
The ‘Mark’ column indicates the total number of marks available for each question part.

The ‘Additional guidance’ column indicates alternative acceptable answers and guidance,
such as the range of acceptable answers, where necessary. This column may also provide
details of specific types of answer which are unacceptable. For most questions, however, there
will be unacceptable answers that are not listed.

5. General marking guidance

5.1 Applying the mark schemes

To ensure consistency of marking, the most frequent procedural queries are listed in

section 5.2 along with the action the marker will take. This is followed by further guidance

on pages 13 to 15 relating to marking questions involving money, time and other measures.
Unless otherwise specified in the mark scheme, markers will apply these guidelines in all cases.

Recording marks awarded

Marking will take place on screen with markers viewing scanned images of pupils’ responses.
Marks will be entered into the marking system in accordance with the guidance for the
on-screen marking software.

For each question, markers will record the award 3, 2, 1 or 0 as appropriate, according to the
mark scheme criteria. There will be provision in the software to record questions not attempted.
The software will aggregate marks automatically.
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5.2 General marking principles

Table 2: General marking principles for all papers

1. The pupil’s answer Markers will use their judgement to decide whether the
does not match closely | answer corresponds with details in the ‘Requirement’
any of the examples column of the mark scheme. Reference will also be made to
given in the mark the ‘Additional guidance’ column.
scheme.

2. The pupil has Pupils may provide evidence in any form as long as its
answered meaning can be understood. Diagrams, symbols or words

in a non-standard way. | are acceptable for explanations or for presenting an answer.

3. The correct answer The mark(s) will not be awarded for crossed-out or erased
or working has been answers or working.
crossed out or erased
and not replaced.

4. More than one answer | If all answers given are correct (or a range of answers is

is given. given, all of which are correct), the mark(s) will be awarded
unless the mark scheme states otherwise. If both correct
and incorrect answers are given, the mark(s) will not be
awarded unless the mark scheme states otherwise.

5. No answer is given in Where a pupil has unambiguously indicated the correct
the expected place, answer, the mark(s) will be awarded. In particular, where
but the correct answer | a word or number is expected, a pupil may meet the
is given elsewhere. requirement by annotating a graph or labelling a diagram

elsewhere in the question.

6. The pupil’s answer is A correct final answer will be awarded the mark(s).
correct, but the wrong
working is shown.

7. The pupil has used No alternative notation is accepted as representing a
alternative notation decimal point in a number, e.g. a comma.
for a decimal point in ) ) ) .
. Refer to 'sectlon 6 for guidance on marking specific types

of question.

8. The pupil has used If the pupil has used a comma as a thousands separator
a symbol as a (positioned either correctly or incorrectly) and the digits are
thousands separator. in the correct order, then the mark(s) will be awarded.

If any other symbol, e.g. decimal point or apostrophe, is
used, the mark(s) will not be awarded.
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9. The answer in the A transcription error occurs when a pupil miscopies their
answer box is wrong answer from the end of their working into the answer box.
due to a transcription

T Where appropriate, detailed guidance will be given in the

mark scheme. For questions with no guidance, marks
will only be awarded for a transcription error if the wrong
answer is due to:

e transposed digits in a number (e.g. 243 is written
as 324)

OR

e one digit changed in a number of 4 or more digits
(e.g. 2,345 is written as 2,845).

The mark(s) will not be awarded for any other transcription
error including:

e adecimal point positioned incorrectly (e.g. 12.34 is
written as 1.234 or 1234)

e achange by a power of 10 (e.g. 200 is written as 20
or 2,000)

e adigit added or removed (e.g. 123,456 written as
1233,456 or 12,456)

* a negative sign added or removed.

10. The pupil’s answer Answers should be given as single values in their simplest
is numerically form unless the mark scheme states otherwise, e.g. for
or algebraically [ ]=536 - 30, the answer 500 + 6 will not be awarded
equivalent to the the mark.
answer in the

. 20 i
TR S For integer answers, e.g. 20, the answer : will be awarded

the mark; % will not be awarded the mark.

For decimal answers that include recurring digit(s), there
must be an unambiguous indication of the recurring digit(s).
For example, for % 0.16 or 0.16 will be awarded the mark and

for 1, 0.142857 or 0.142857 will be awarded the mark.

Where alternative responses are acceptable, this will be
indicated in the ‘Additional guidance’ column.
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Table 3: General marking principles for paper 1 only (arithmetic)

11.

The answer in the
answer box is wrong
due to a misread of
numbers given in
the question.

Misreads are not allowed in paper 1; the mark(s) will not
be awarded.

12.

The pupil has not
recorded their working
beneath the given long
multiplication or

long division.

If a pupil carries out their working somewhere on the page
other than beneath the given question as expected, then
the pupil must start by rewriting the original question in
order for it to be considered as a formal method.

Please note that the operation sign does not need to be
given for long multiplication, provided the pupil’s working
shows the intention to multiply.

13.

The pupil’s answer
to the long division
question includes a
remainder.

If a pupil reaches an integer answer using a formal method
with no more than one arithmetic error, for example 25,
then the mark(s) will be awarded for 25 r0 or 25.0, but the
mark(s) will not be awarded for 250

For answers with remainders, the remainder must be
expressed correctly.

If a pupil shows a remainder that is the same size as the
divisor or larger, for example, a remainder of 28 or 29 when
dividing by 28, the mark(s) will not be awarded because the
method is incomplete.

If a pupil reaches a non-integer answer using a formal
method with no more than one arithmetic error, for example
when dividing by 28, the pupil reaches the answer 6 r14,
then the mark(s) will be awarded for 6% or 6.5, but the

mark(s) will not be awarded for 6 r% or6.14 or 614

14.

The pupil’s long
division method
involves subtracting
chunks of different
sizes.

If a pupil’s formal method involves subtracting chunks, it is
not necessary to show a separate addition of the chunks.
If the answer is not the correct total for their chunks, then
that is treated as one arithmetic error.

It should be noted that this method will only be accepted if
all chunks are of different sizes.

P3gar8edfffn SATs-Pa pers.co.uk
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Table 4: General marking principles for papers 2 and 3 only (reasoning)

15.

More than one method
is given.

If a pupil gives more than one method, then the intended
method is taken as the one which leads to the answer in the
answer box or an identified answer elsewhere. If no answer
is given, then all methods must be appropriate for the
method mark(s) to be awarded.

16.

There appears to be
a misread of numbers
or information given
in the question that
affects the pupil’s
working and/or
explanation.

This occurs when a pupil misreads a number given in the
question and consistently uses a different number that does
not alter the original intention or difficulty of the question.
For example, if 243 is misread as 248, both numbers may
be regarded as comparable in difficulty. However, if 243

is misread as 245 or 240, the misread number may be
regarded as making the question easier. The misread of a
number may affect the award of marks.

Where appropriate, detailed guidance will be given in the
mark scheme. If no guidance is given, markers will examine
each case to decide whether the mark(s) will be awarded.

The mark(s) will not be awarded if:

e itis a ONE-mark question

e there is more than one misread number in a question

e the mathematics is simplified

e it is an explanation question

e itis a misread of other information (not numbers)

e the misread number is the same as any other number
in the question.

For TWO-mark questions that have a method mark,
one mark will be awarded if an appropriate method is
correctly followed through with the misread number to
give the correct follow-through answer, provided the
mathematics has not been simplified.

For THREE-mark questions, refer to the additional
guidance.

17.

A misread or an
arithmetic error
results in an answer
with multiple decimal
places.

In some instances, a misread or an arithmetic error in a
method leads to an answer with multiple decimal places.
In such cases, the method mark(s) will be awarded for an
answer that is correctly truncated or rounded provided the
method is appropriate. For example, 1.2345 is truncated
to 1.234
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18. The pupil has reversed | When values within the calculation are reversed, the mark(s)

values within a will only be awarded when the answer corresponds to the
calculation involving correct calculation. For example, if the correct calculation is
subtraction or 12 + 4, the method mark(s) may be awarded for 4 + 12 = 3,
division. but not for an answer other than 3

Reversed values within a calculation are not acceptable in
‘explain’ questions.

19. The pupil omits an If the correct sign of +, —, x, or + for an arithmetic operation
operation sign within is missing, then the mark(s) will only be awarded if the
their working. working shown by the pupil is clear enough to indicate that

the required operation has been performed. This applies
even if the results of the required operation are incorrect.
For example, where the following is seen in working:

456
123

e if the answer is larger than the greater of the given
values, e.g. 679, then addition is implied

e if the answer is less than the first given value, e.g. 323,
then subtraction is implied.

20. The pupil has used ‘an | For some questions, the mark scheme allows the award

appropriate method’. of the method mark(s) for ‘evidence of an appropriate
method’, even if the answer is missing or incorrect. Refer to
the ‘Additional guidance’ column where appropriate.

For the award of the method mark(s) for an appropriate
method, there must be evidence of all the steps of the
appropriate method (i.e. any method that would lead to the
correct answer if there were no arithmetic errors and no
additional steps).

This means that, for every step, either:
e the appropriate calculation to be carried out must
be shown
OR
¢ if the calculation has not been written down, the

correct answer or correct follow-through answer must
be shown.
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21. The pupil has used a ‘Trial and improvement’ is regarded as an acceptable
trial and improvement method, unless the mark scheme states otherwise.
method.

For a ‘trial and improvement’ method to be awarded the
method mark(s):

e there must be at least 3 trials, carried out correctly,
which each reduce the range in which the answer is
known to lie

e there can be additional trials, which are correctly or
incorrectly carried out, and which may not reduce the
range in which the answer is known to lie

¢ a final answer is not needed, unless the mark scheme
states otherwise.

22. The answer in the Extra working occurs when a pupil writes the correct
answer box is wrong answer in their working, and then continues to process the
due to the pupil information further.

continuing to give

extra working. If the extra working does not contradict the pupil's

appropriate method, the method mark(s) will be awarded.

If the extra working contradicts the pupil's appropriate
method, the method mark(s) will not be awarded.

23. The pupil miscopies a There will be instances when a pupil reaches a value in their
value from one part of working, then restarts from a different value.
their method into the . ,
next part. The mark(s) will not be awarded if:
e itis a ONE-mark question
e there is more than one miscopy in the working
e the mathematics is simplified as a consequence of
the miscopy
¢ the miscopy does not follow transcription error rules
(see point 9).

The method mark(s) will only be awarded if an appropriate
method is correctly shown using the miscopied number
(which must follow transcription error rules).
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24. The correct answer An embedded answer occurs when a pupil shows the
is embedded in the correct answer within their working but then selects the
working. wrong answer from their working as their final answer or

leaves the answer box blank. For example, if a pupil shows
2.5 x 6 =3 x 5in the last line of their working and writes 5
in the answer box, whereas the correct answer is 3, then
this will affect the award of marks.

Where appropriate, detailed guidance will be given in the
mark scheme. If no guidance is given, markers will examine
each case to decide whether the mark(s) will be awarded.

For ONE-mark questions, the mark will not be awarded.

For TWO-mark questions that have a method mark,

one mark will be awarded, provided the pupil does not give
redundant extra working that contradicts work already done
or which adds to their appropriate method.

For THREE-mark questions, refer to the additional

guidance.
25. The phrase ‘sight of’ For some questions, the mark scheme allows the mark(s)
is used in the mark to be awarded for sight of a particular number or numbers
scheme. within a method. Such numbers are the correct answers to

partial steps within a method. The mark(s) will be awarded
if the given value is written anywhere associated with that

question.

26. The pupil’s answer ‘Follow-through’ marks for an answer will only be awarded
correctly follows when specifically stated in the mark scheme.
through from earlier
incorrect work.

27. The pupil has drawn Markers will interpret the phrase ‘slight inaccuracies in
lines which do not drawing’ to mean ‘within or on a circle of radius 2 mm with
meet at the correct its centre at the correct point’.

point.

e ,

\ AN
within the circle on the circle outside the circle
- accepted - accepted - not accepted
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6. Marking specific types of question:
summary of additional guidance

6.1 Answers involving money

Accept Do not accept

Where the £ sign £3.20 £7
is given, e.g.
£7.00
£3.20, £7
Any unambiguous indication of | Incorrect placement of pounds
£ the correct amount, e.g. or pence, e.g.
£3.20p £320
£3 20 pence £320p
£3 20 Incorrect placement of decimal
3.0 point or incorrect use or
3-20 omission of 0 or use of comma
£3:20 as a decimal point, e.g.
£3:20 £3.2
£3 200
£32 0
£3-2-0
£3,20
Where the p sign 40p
is given, e.g.
Any unambiguous indication of | Incorrect or ambiguous use
40p the correct amount, e.g. of pounds or pence or use of
comma as a decimal point, e.g.
P £0.40p
0.40p
0 40p
£40p
£0-40p
£0,40p
0:40p
£0;40p
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2017 key stage 2 mathematics test mark schemes

Do not accept

Where a unit is not
given, e.g.

£3.20, 40p

Accept
£3.20 40p
320p £0.40
Any unambiguous indication of
the correct amount, e.g.
£3.20p £0.40 pence
£3 20 pence £0 40p
£3 20 £0-40
£3-20 £0:40
£3:20 £0;40
£3;20 £.40
3.20 0.40
320 40
3 pounds 20

Incorrect or ambiguous use
of pounds or pence or use of
comma as a decimal point,

e.g.

£320 £40
£320p £40p
£3.2 0.4
3.20p 0.40p
£3,20 0,40
£0,40p

6.2 Answers involving time

Accept Do not accept

A time interval, e.g.

2 hours 30 minutes

2 hours 30 minutes

Any unambiguous, correct
indication, e.g.

(0)2h 30 150 minutes
0)2h 30min 150

(0)2 30 2.5 hours
(0)2-30 21 hours

Digital electronic time, e.g.
(0)2:30 (0)2;30

Incorrect or ambiguous time
interval or use of comma as a
decimal point, e.g.

2.30 230

2.3 2.30min
2.3 hours 2,5 hours
2.3h 2,30

2h 3
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Accept Do not accept

A specific time, e.g. (0)8:40am

8:40am, 17:20 (0)8:40

twenty to nine

Any unambiguous, correct Incorrect time, e.g.
indication, e.g.
8.4am
(0)8.40
8.40pm
(0)8;40

Incorrect placement of
0840 separators, spaces, etc. or
incorrect use or omission of 0

() 40 or use of acomma as a
(0)8-40 decimal point, e.g.
Unambiguous change to 840

12 or 24-hour clock, e.g. 8-4-0

17:20 as 5:20pm or 17:20pm 8.4

084

8,40

6.3 Answers involving measures

Accept Do not accept

Where units are 8.6kg
given, e.g.

Any unambiguous indication of | Incorrect or ambiguous use
8.6kg the correct measurement, e.g. of units or use of comma as a

decimal point, e.g.
kg 8.60kg
8600kg
8.6000kg
m 8kg 600
8kg 6009
I 8,60kg
8,6000kg

If a pupil gives an answer with a unit different to the unit in the answer box, then their answer must be
equivalent to the correct answer provided, unless otherwise indicated in the mark scheme.

If a pupil leaves the answer box empty but writes the answer elsewhere on the page without any units,
then that answer is assumed to have the units given in the answer box and the conditions listed above.
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7. Mark schemes for Paper 1: arithmetic

Qu. | Requirement Mark | Additional guidance

3 11 OR/ 1m Accept equivalent mixed numbers,
fractions or an exact decimal equivalent,
e.g. 1.16 (accept any unambiguous
indication of the recurring digit).

Do not accept rounded or truncated

decimals.

4 | 505 1m

5 | 285 1m

6 | 5.714 1m

7 | 5,100 1m

8 | 264 im

9 (8 1m

10 | 668 1m

11 | 4,088 1m

12 | 6 1m Accept equivalent fractions or an exact
25 decimal equivalent, e.g. % or 0.24

13 | 1,159 im

14 | 56 im

15 | 2 im Accept equivalent fractions or an exact
S decimal equivalent, e.g. % or 0.4

16 | 1,200 1m

17 | 83 1m

18 | 0.004 1m

19 | 2,345,000 1m
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Qu. | Requirement

Mark | Additional guidance

20 | Award TWO marks for the correct answer Up to
of 42 2m
If the answer is incorrect, award ONE mark Working must be carried through to reach
for a formal method of division with no more a final answer for the award of ONE mark.
than ONE arithmetic error, i.e.
® |ong division algorithm, e.g.
42 r2
17| 714
- 680 (40 x 17)
36 (error)
- 34 2x17)
2
OR
43  (error)
17| 714
- 680 (40 x 17)
34
- 34 (2 x17)
0
e short division algorithm, e.g. Short division methods must be supported
by evidence of appropriate carrying figures
41r7 to indicate the use of a division algorithm,
17| 71%4  (error in carrying digit) and be a complete method. The carrying
figure must be less than the divisor.
21 | 555 im
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Qu. | Requirement

Mark | Additional guidance

22 | Award TWO marks for the correct answer Up to
of 109,963 2m
If the answer is incorrect, award ONE mark Working must be carried through to reach
for a formal method of long multiplication a final answer for the award of ONE mark.
with no more than ONE arithmetic error, e.g. ) o
Do not award any marks if the error is in
° 4781 the place value, e.g. the omission of the
X 23 zero when multiplying by tens:
14343
95620 4781
209963 (error) x___ 23
14343
OR 9562 (place value error)
o 4781 23905
X 23
14343
95630 (error)
109973
23 | 3 1m Accept equivalent fractions or an exact
8 decimal equivalent, e.g. 0.375
24 | Award TWO marks for the correct answer Up to
of 19,228 2m
If the answer is incorrect, award ONE mark Working must be carried through to reach
for a formal method of long multiplication a final answer for the award of ONE mark.
with no more than ONE arithmetic error, e.g. ) o
Do not award any marks if the error is in
° 418 the place value, e.g. the omission of the
X 46 zero when multiplying by tens:
2508 .
16720 418
18228 (error) x __46
2508
OR 1672 (place value error)
o 4180
418
X 46
2508
16620 (error)
19128
25 | 23.129 im
26 | 11 1m Accept equivalent fractions or an exact
20 decimal equivalent, e.g. 0.55
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Qu. | Requirement Mark | Additional guidance

27 im Accept equivalent fractions or an exact

y
5 decimal equivalent, e.qg. 24_0 or0.2

28 | 5 1m Accept equivalent fractions or an exact
16 decimal equivalent, e.g. 0.3125

29 | 207 1m Do not accept 207%

30 | 31 oR19 im Accept equivalent mixed numbers,

6 fractions or an exact decimal equivalent,
e.g. 3.16 (accept any unambiguous
indication of the recurring digit).

Do not accept rounded or truncated
decimals.

Do not accept 2%

31 | 35 1m Do not accept 35%

32 5 1m Accept equivalent fractions or an exact
24 decimal equivalent, e.g. % or 0.2083
(accept any unambiguous indication of the
recurring digit).

Do not accept rounded or truncated
decimals.

33 | 180 1m

34 | 150 1m Do not accept 150%

35 | g51 1m Accept equivalent fractions or an exact
decimal equivalent e.g. % or 85.5
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Requirement Mark | Additional guidance
36 | Award TWO marks for the correct answer Up to
of 38 2m
If the answer is incorrect, award ONE mark Working must be carried through to reach
for a formal method of division with no more a final answer for the award of ONE mark.
than ONE arithmetic error, i.e.
® |ong division algorithm, e.g.
38r2
59| 2242
- 1770 (80 x 59)
474 (error)
- 472 (8 x 59)
2
OR
35 (error)
59| 2242
- 1770 (80 x 59)
472
- 472 (8 x 59)
0
e short division algorithm, e.g. Short division methods must be supported
by evidence of appropriate carrying figures
3 7148 (error) to indicate the use of a division algorithm,
59| 224%2 and be a complete method. The carrying
figure must be less than the divisor.
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8. Mark schemes for Paper 2: reasoning

Qu. | Requirement Mark | Additional guidance
1a | 200 im
1ib | 50 im
2 | The correct number circled as shown: 1m Accept alternative unambiguous positive
indications, e.g. number ticked.
3 | Three boxes completed correctly as shown: 1m
7 6
8
4 | Award TWO marks for the correct answer Up to
of 1,609 2m
If the answer is incorrect, award ONE mark Answer need not be obtained for the
for evidence of an appropriate method, e.g. award of ONE mark.
e 5,895+ 1,344 =7,239
8,848 — 7,239
5 | Award TWO marks for three boxes Up to
completed correctly as shown: 2m
1,085
8,099
14,250
If the answer is incorrect, award ONE mark
for two boxes completed correctly.
6 Numbers in order as shown: 1m
0.328 0.96 1.253 1.9
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Qu. | Requirement Mark | Additional guidance
7 | Award TWO marks for three boxes Up to
completed correctly as shown: 2m
5
3
12

If the answer is incorrect, award ONE mark
for two boxes completed correctly.

8 | Award TWO marks for the correct answer Up to
of 1,048 2m

If the answer is incorrect, award ONE mark Answer need not be obtained for the
for evidence of an appropriate method, e.g. award of ONE mark.
e 1,793 + 8,728 = 10,521
10,521 -9,473
OR

e 9,473-8,728 =745
1,793 - 745

9 Both shapes ticked as shown: 1m Accept alternative unambiguous positive
indications, e.g. shapes circled.
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Qu. | Requirement Mark | Additional guidance
10 | Award TWO marks for three boxes Up to
completed correctly as shown: 2m
84,520
84,500
85,000

If the answer is incorrect, award ONE mark
for two boxes completed correctly.

11a| 140 1m The answer is a time interval
(see page 14 for guidance).

11b | 2 im

12 | Award TWO marks for both pyramids ticked | Up to | Accept alternative unambiguous positive
as shown: 2m indications, e.g. Y.

Square-based pyramid

Triangular-based pyramid

AN
A

If the answer is incorrect, award ONE mark
for:

¢ the two pyramids and not more than
one incorrect shape ticked
OR

® only one correct shape ticked and no
incorrect shape ticked.
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Requirement

Mark | Additional guidance

13 | Award TWO marks for the correct answer Up to
of £1.39 2m
If the answer is incorrect, award ONE mark Accept for ONE mark an answer of £139
for evidence of an appropriate method, e.g. OR £139p as evidence of an appropriate
* 12x99p=£11.88 method.
£11.88 - £10.49 Answer need not be obtained for the
award of ONE mark.
14 | 18 1m Accept 18:12 OR 12:18
15 | 2006 1m Do not accept ‘two thousand and six’
in words.
16 | 540 1m
17 | Quadrilateral completed as shown: 1m Accept slight inaccuracies in drawing
(see page 12 for guidance).
y
N
//
4 /7
B /
6 5 -4 -3 -2 -1}1{ / 4 X
-2
-4
-6
18 | 75 1m
19 | Award TWO marks for the correct answer Up to
of £1.68 2m
If the answer is incorrect, award ONE mark Accept for ONE mark an answer of £168
for evidence of an appropriate method, e.g. OR £168p as evidence of an appropriate
e 20-14.96 = 5.04 method.
5.04+3 Answer need not be obtained for the
award of ONE mark.
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Qu. | Requirement

Mark | Additional guidance

20 | An explanation showing that 0.25 is less 1m Do not accept vague, incomplete or
than 2 e.g. incorrect explanations, e.g.
5 3
e Because % is bigger than %
. % is0.4 >0.25
e Because % comes first on a
* 025is % < % number line
o 1
e Because 0.25 is —
e 0.25is 25% and % is 40% 4
and 25% is smaller than 40% o5 1
Accept === as an equivalent to — in an
. 10 4
e 0.25is a quarter. lanat h gt 4
You need 8 quarters to make 2, explanation when comparing to 10
but only 5 lots of % to make 2
2
e ==04
5
1..1 2.
° ) is ) smaller than a half, but 5 is
1. 2
only 1 smaller, so — is smaller than 2
Y30 50! 5
21 | Award TWO marks for the correct answer Up to
of 12.5 2m
If the answer is incorrect, award ONE mark Answer need not be obtained for the
for evidence of an appropriate method, e.g. award of ONE mark.
e 250+ 20
OR
e 20kmis 1cm Do not accept incorrect proportions in any
100km is 5¢cm step without evidence of the calculation
50kmis 2.5cm performed.
5cm+5cm +2.5cm
22 | 14 1m Accept other equivalent ratios, e.g. 2:8 or

0.5:2

Do not accept reversed ratios, e.g. 4:1
or 8:2
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23

Requirement

Award TWO marks for the correct answer

If the answer is incorrect, award ONE mark
for evidence of an appropriate method, e.g.
. % L1

3

+2 =95

12 12 12

5
1-2
12

OR

60°

90°

90° + 60° = 150°

_150
360

Up to
2m

Additional guidance

Accept equivalent fractions or an exact
decimal equivalent, e.g. 0.583

Accept for ONE mark an answer between
0.58 and 0.59 inclusive.

Answer need not be obtained for the
award of ONE mark.
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9. Mark schemes for Paper 3: reasoning

Requirement Mark | Additional guidance
1 10 im
2 |5 im
3 | 95x60R9% x5 im
4a | 7 1m Do not accept -7 or 7-
4b | -2 1m Do not accept 2—
5 | £302.27 1m
6 | The correct time circled as shown: 1m | Accept alternative unambiguous

positive indications, e.g. 14:01 ticked
or underlined.

Accept 17:26 circled in addition to 14:01,
provided no other time is circled.

Do not accept only the arrival time 17:26
circled.

7 | Triangle with vertices at (2,1) AND (2,4) AND 1m Accept slight inaccuracies in drawing (see
(5,1) drawn on the grid as shown: page 12 for guidance).

- N W Ao oo <

w N - O

|
‘,

I
o

(o2}
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Requirement Mark | Additional guidance

8 | Award TWO marks for any three of the Up to
following numbers written in any order: 2m

e 2
e 6
e 10
e 30

If the answer is incorrect, award ONE mark
for two numbers correct.

9 | 5 1m Do not accept 300 (minutes).
10 | 68(ml) OR 0.068 (|) 1m Do not accept incorrect units, e.g. 681 OR
0.068 ml.
11 | 32 1m
12 | An explanation that shows Adam has four 1m Do not accept vague or incomplete
times as many balloons as Chen, e.g. explanations, e.g.
e 24 x6is4timesasmanyas 12 x 3 e Adam buys more bags and there are
e 144 is four times 36 more balloons in each bag
o 144 = 4 =736 e Adam buys twice as many bags of
e 144 -36=4 twice as many balloons
e 36x4=144 e 24 is double 12 and 6 is double 3.

e Adam buys twice as many bags of twice
as many balloons, so it’s doubled twice

e 24 is double 12 and 6 is double 3, so it's
doubled twice

e Chen buys half the amount of bags
and each bag has half the number of

balloons, so he has % of the amount.

P3gare& #fodOSATs-Pa pers.co.uk https://www.SATs-Papers.co.uk





2017 key stage 2 mathematics test mark schemes

Qu. | Requirement Mark | Additional guidance

13 | The correct shape circled as shown: 1m Accept alternative unambiguous positive
indications, e.g. shape ticked.

14 | Award TWO marks for the correct answer Up to

of £0.90 2m

If the answer is incorrect, award ONE mark Accept for ONE mark an answer of £90p

for evidence of an appropriate method, e.g. OR £0.9 as evidence of an appropriate

o £1.35x2=£270 method.
£270+3 Answer need not be obtained for the
award of ONE mark.

15 | The correct letter circled as shown: im Accept alternative unambiguous positive

indications, e.g. letter ticked.

©

16 | Award TWO marks for the correct answer Up to
of 750 2m
If the answer is incorrect, award ONE mark Answer need not be obtained for the
for evidence of an appropriate method, e.g. award of ONE mark.

e 450 x 2 =900
2,400 -900 = 1,500
1,500 + 2
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Qu. | Requirement Additional guidance

17 | Award TWO marks for all four rows completed | Up to | Accept alternative unambiguous positive
correctly as shown: 2m indications of the correct numbers, e.g

numbers ticked.

If the answer is incorrect, award ONE mark
for three rows completed correctly.

18 | Both numbers correct as shown: im Numbers must be in the correct order.
9 13 Do not accept:
3 13
19 | Award TWO marks for 12 AND 13 Up to
2m
If the answer is incorrect, award ONE mark for:
e only one correct number and no
incorrect number
OR
e 12 AND 13 AND not more than one Accept for ONE mark an answer of 48
incorrect number. AND 52 AND no more than one

incorrect number.
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Qu. | Requirement Mark | Additional guidance

20 | Award THREE marks for the correct answer Up to
of 14 3m

If the answer is incorrect, award TWO marks
for:

e sight of 414 as evidence of 23 x 18
completed correctly
OR

e evidence of an appropriate method with
no more than one arithmetic error, e.g.

20 x 20 = 400
23
x 18
230
184
314 (error)
400 -314 =86
Award ONE mark for evidence of an Answer need not be obtained for the
appropriate method. award of ONE mark.

A misread of a number may affect the
award of marks. No marks are awarded
if there is more than one misread or if the
mathematics is simplified.

TWO marks will be awarded for an
appropriate method using the misread
number followed through correctly to a
final answer.

ONE mark will be awarded for evidence of
an appropriate method using the misread
number followed through correctly with no
more than one arithmetic error.
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Requirement Additional guidance
21a %Written in the first box im Accept equivalent fractions or an exact
decimal equivalent, e.g. 0.375
21b 21 OR 23 written in the last box im Accept equivalent fractions or an exact
8 decimal equivalent, e.g. 2.875
22 | Award TWO marks for the correct answer Up to
of 7 2m
If the answer is incorrect, award ONE mark Answer need not be obtained for the
for evidence of an appropriate method, e.g. award of ONE mark.
° 18+9+ _2 widths = 34 + 1 width Award ONE mark for a method which uses
27 + 2 widths = 34 + 1 width algebraic representation correctly, e.g.
27 + 1 width = 34
34 - 27 e M4+w=18+w+9+w
34 +w=27+W+W
OR
e 34-(18+9)
23 | Both numbers correct as shown: 1m
10 1
24 | Award TWO marks for the correct answer Up to
of 9 2m
If the answer is incorrect, award ONE mark Answer need not be obtained for the
for evidence of an appropriate method, e.g. award of ONE mark.
e 6x6x6=216
216 + 6 =36
36 +4
OR
e 216 +24
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